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Which of the following represents the correct ascending order of the elements
according to the electronegativity trend in the periodic table?

Sr<Ca<Mg<Be
Be <Ca<Mg< Sr
Sr<Mg<Ca<Be

=] [o] [=] 2]

Sr<Be<Mg<Ca

S Y SR S il Ade ey oM 05 e 12
What is the ion expressed by the following electronic configuration?

4s 3d
[Ar] MERERERE

Zn”
Fe?*
Ni%*
Ti* (0]
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Which of the following statement is true about group 147?

833 sia 5 el s Lpman 2uilST a yualic (35
The formed element oxides are acidic ,basic and amphoteric
de gandl JauY 4 5lal) dualal) ala 3 4 ) Aualal) J&
Going down the group, the non-metallic character decreases and the metallic
character increases

=] [=]

o]

All their element oxides are soluble in water

Lead element has the lowest melting point in that group

El
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The following graph represents some of the ionization energies for an element (X).
Which of the following is the element represented below?
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Which of the following reaction takes place ?

I-Brz2+2I" —
i -Brz +2ClI" —
L (j) Jeladll
Lads (ji) Jeladl
(i) (i) Jetad
GaagY (pleldll S8 (]

Agle o8 058 O QB A3 clig) ¢ 4 6

Which of the following ions you expect to be uncolored?

FeZ+
V2+
Ti%

Cu2+ IE'

Solia) Jo Ll 4l daana 40Y) @l jlall e ol

1.7
Which of the following statement is correct for the reaction below?
8H' @) + MNOs'ag) + Fe?" @) ——» Mn?*(aq)+ Fe(aq) +4H20y)
Fe2+ ion is reduced ) Fe?t cligl
MnOy is an oxidizing agent MNO4 S 5all Jalall
the reaction takes place in an acidic medium eld oy 8 b Jelal)
hydrogen ions H+ is reduced G A HF Caasuedl Sl @
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1-8
Which of the following is the correct order of hydrogen hydride according to the ascending
order in the pH value?
HF < HCI < HBr < HI
HF < HBr < HI < HCI
HIi< HBr < HCI < HF
HI <HF <HBr <HCI [p]
?Mﬁdﬁj‘émydab‘gdjﬂhdahsmo\Q&géﬂ\oﬁ\J\u 1.9
What ion can act as a reducing and oxidizing agent at the same time?
Mn™*
Cu2+
SCS+
Ni2+ IE
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Manganese has the highest oxidation number in first row transition element

¢ Mn*3 al Mn*2 1) 8k JAS) 2yl oY) gi A
Which ion is more stable : Mn*? or Mn*3?

Explain your answer (\) g AN Go didal 5 b o

TRl Al sl Vs A L i JalaS MN,03 Sinial) asusi Jas 131 .z

If Mn.O3z; manganese oxide acts as a reducing agent, what are the oxidation
numbers that are produced?

O3 (A9 ASN 9 30l) gy A Suindall WAGEY o qua Al clig S aae La o

AAVAE:
How many electrons does manganese have to lose to become an isoelectronic
V+3ion?
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Study the following reaction then answer the question below:
1) Nal + AgNO; ——»

2) NaCl + AgNO; —

€0 985l Caapll Ailaassl) Dl of and) La SO 8N Jha) camdy 0 5S0 Gale il (4.1

Which two reactions form a yellow-colored precipitate? What is the name or
chemical formula of the precipitate formed?

Jo ) 8 (O eSiall )l ) Cddiall agaigal) Mg pa Jslaa ddla) die daaag il

¢ <Gl

What happens when diluted ammonium hydroxide solution is added to the
precipitate in the second reaction?

Aage dad (N) cpag il puaiad g SN Jaall 1l .

Explain : the electron affinity of nitrogen element is positive.

LAY Jgaadl A agnll gAY Jadl ad Ao Bl

According to the electron affinity values for bromine:

(A Js¥) 9 AN Jaall
Second First Electron affinity
+749 -324 KJmol?

sl aiad g SN Jall Jiah Alslaa i

Write the equation representing the electron affinity of bromine.
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Study the table below showing the first and the second ionization energies for
rubidium and strontium :

AUl cplal) A8 e il A3 paiall
2632 403 (Rb) assiug
1064 550 (Sr )asadad) i)

i) e 3 oY) il AU Jiad Ay e ) ApilpasS Alilaa S) |
Write a symbolic chemical equation representing the first ionization energy for
strontium

AU ) dBUa (e o) a gadu g ) AT i) ABU 13D Jualilly 7 40|
€a g Yl
Explain in details : why the second ionization energy of rubidium is greater than
the second ionization energy for strontium?
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Silicon dioxide SiO, and CO,, the most stable oxides of silicon and carbon.

complete the following reaction Ay Aalaal) gJASi }

CO, + 2NaOH ——— .. S

Ui 14 4o ganall pualic jlguall cila o bl ;g b I

Explain : the melting point of group 14 decreases down the group ?
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